
 
 
 
 

 
    
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

 
 
 

INSTALLATION INSTRUCTIONS 
 

PART#:7G113206SS/7G113206A 
TAIL LIGHT GUARD FOR NISSAN TITAN 04-09  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



TAIL LIGHT GUARD FOR NISSAN TITAN 04-09  
 
 
NOTE: Please read this information before installing. NO DRILLING REQUIRED for the installation of these 
taillight guards. To obtain correct installation, we recommend you follow these step by step installations 
carefully. Please take care when installing this product to protect the finish and your investment.  The 
manufacturer takes no responsibility for injuries or damage to your vehicle caused during installation. 
 

Step One: Locate hardware and check contents with hardware listed below. 
 
 QTY  DESCRIPTION 

1 Taillight Guard (Left & Right) 
2 “L” Mounting Brackets 
6 M6 x ¾” Philips Screws 
8  M6 Flat Washers 
2  M6 nuts 

 2  #6 x ½” Sheet Metal Screws 
 
Step Two: Remove factory screws that support the tail light to the vehicle (Figure 1). Carefully unfasten clips and 
remove tail light. 
Step Three: Locate (1) – M6 x ¾” Phillips Screw, (1) – M6 Nut, and (1) – M6 Flat Washers. Attach “L” Mounting 
Bracket with hardware listed in this step (Figure 2). Repeat this step for opposite side. 
Step Four: Carefully re-install tail light and fasten factory clips on the tail light. 
Step Five: Locate (2) – M6 x ¾” Philips Screws and (2) – M6 Flat Washers. Position Taillight Guard onto vehicle 
and secure it by using the hardware listed in this step (Figure 1). Repeat this step for opposite side. 
Step Six: Once the Taillight Guard is secure, attach the side of the Taillight Guard to the “L” Bracket by using the 
included (1) - #6 x ½” Sheet Metal Screw (Figure 3). Repeat this step for opposite side.  Note: some bending of 
the bracket may need to occur to assure a snug fit. 
 

Replace 
factory 
screws 
with M6 x 
¾” Phillips 
Screws 

M6 x ¾” Screw, 
Nut and Washers 

“L” Bracket

#6 x ½” Sheet 
Metal Screw 

 
 
 
 
 
 
 
 
 
 
 
  Figure 1    Figure 2    Figure 3 
 
 
Cleaning Instructions: For stainless steel, an aluminum polish may be used to polish small scratches and scuffs on 
the finish. Mild soap, window and glass cleaner may be used to clean stainless steel. For gloss black finish: Mild 
soap, window and glass cleaner may be used. Do not use any type of polish or wax that contains abrasive that 
could damage the finish.  
 

BLACK HORSE BULL BARS GRILLE GUARDS

http://www.carid.com/grill-guards.html
http://www.carid.com/black-horse-off-road/

	  Figure 1    Figure 2    Figure 3

